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To find sum of two numbers

Algorithm Flowchart
1. Start Start bl ddlas Qly /Ll
2. Reada.b i
3. e=a+b l
4. Pnntordisplay ¢ Readab {
5. Stop /
l o FRESTRETL " Olitus JiZnd
c=a+b i Gu)s gow U] Bausie Il
| J
Write ¢
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Stop
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F=F*M
Average =
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: / / Print Average /
YES
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PRINTF /
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1. Start Start

2. Reada.b

3 ec=atbh l

4. Print or display ¢ Reada, b /4

5. Stop

!

c=a+bh
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Write ¢
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stop
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Algorithm

1. Start
2. Read AB
3. IfA>Bthen
Print A is large
else
Print B is large
4. Stop
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Start

Resd AB
No ".isAAvB? e
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Write Write
B is Large A is Larpe
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Algorithm

Start
2. Readn
3. count=0
4. sum=0
count = count + 2

Repeat steps 5 & 6 until count i n

2. Print sum
9. Stop

Flowchart

Start

READ n

count =0
sum =0

—

count = count+ 2

|

sum = sum + count
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